INTRODUCTION

We would now like you to take part in a short exercise to measure your attitudes to risk. Your answers will help us learn more about farming decisions in your village. In this exercise we will present you with various imaginary situations concerning farming, and ask you what decision you would make in that situation.

This is not a test. There are no right or wrong answers to these questions. However, we would like you to consider each question carefully and give the answer which best reflects what you would do in that situation. We will need to ask you a number of questions, but the exercise should not take more than 20 minutes. We are grateful for your patience and co-operation.
SECTION 1: GAINS
Imagine you have decided to apply fertilizer to your crops. The extension officer in your area has recommended that you use one of two types of fertilizer: A and B. They explained that if you use fertilizer A, you will receive a “sure” amount of money for your harvest because you will get a fixed yield. You have seen people use fertilizer A and the results have always remained the same. If you use fertilizer A, there is no risk of getting any amount other than the “sure” amount at the end of the season.

If you use fertilizer B, you will either get a low yield, which you can sell for a low amount of money, or a high yield which you can sell for a high amount of money. You have seen people use fertilizer B and they have ended up with one of the two amounts. Half of them received 
the low amount of money for their crops, and the other half received the high amount. You do not know which of the two amounts you would receive if you use fertilizer B. 

Note: Fertilizer A and B cost the same; the only difference is in terms of the yield realized at the end of the season. Also the price of the crop is known with certainty.
Enumerator: In the table below, each row is a separate question involving the scenario above. In each question, the payoffs for using fertilizer A and fertilizer B are shown. 
Ask the respondent if they understood the scenario you narrated. If the answer is yes, use the activity below to ensure they really understand. Otherwise explain it all over again and then perform the activity below with the respondent.

Example
2. Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 3 if you use fertilizer A (>> Q1)

B.) A pay-off of either GH¢ 2 or GH¢ 4 if you use fertilizer B (>> Q3)
1. Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 2.50 if you use fertilizer A (>> END)
B.) A pay-off of either GH¢ 2 or GH¢ 4 if you use fertilizer B (>> END)
3. Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 3.50 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 2 or GH¢ 4 if you use fertilizer B (>> END)

Once the respondent understands the process, begin with Part (a).
Part (a)
Carefully follow the skip pattern and record answers opposite the corresponding number.
6. Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 110 if you use fertilizer A (>> Q5)

B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B (>> Q7)

If respondent selects A in response to Q6:
5.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 105 if you use fertilizer A 
B.) A pay-off of either GH¢ 20 or GH¢ 200  if you use fertilizer B (>> END)

4.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 100 if you use fertilizer A 
B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B (>> END)
3.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 95 if you use fertilizer A 
B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B (>> END)

2. 
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 90 if you use fertilizer A 
B.) A pay-off of either GH¢ 20 or GH¢ 200  if you use fertilizer B (>> END)
1.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 85 if you use fertilizer A (>> END)
B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B (>> END)
If respondent selects B in response to Q6:
7.     Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 115 if you use fertilizer A (>> END) 

B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B
8.     Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 120 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B
9. 
  Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 125 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B
10.   Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 130 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 20 or GH¢ 200  if you use fertilizer B
11.   Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 135 if you use fertilizer A
B.) A pay-off of either GH¢ 20 or GH¢ 200 if you use fertilizer B 
Part (b)

Carefully follow the skip pattern

5.
Which of these alternatives would you choose in the situation above:
A.) A sure amount of GH¢ 80 if you use fertilizer A (>> Q6)

B.) A pay-off of either GH¢ 40 or GH¢ 130 if you use fertilizer B (>> Q4)

If respondent selects B in response to Q5:
4.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 40 or GH¢ 125  if you use fertilizer B 
3.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 40 or GH¢ 120 if you use fertilizer B 
2.
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A (>> END)

B.) A pay-off of either GH¢ 40 or GH¢ 115 if you use fertilizer B 
1. 
Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A 
B.) A pay-off of either GH¢ 40 or GH¢ 110  if you use fertilizer B (>> END)
If respondent selects A in response to Q5:
6.     Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A 
B.) A pay-off of either GH¢ 40 or GH¢ 135 if you use fertilizer B (>> END)
7.     Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A 
B.) A pay-off of either GH¢ 40 or GH¢ 140 if you use fertilizer B (>> END)
8. 
  Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A 
B.) A pay-off of either GH¢ 40 or GH¢ 145 if you use fertilizer B (>> END)
9.   Which of these alternatives would you choose in the situation above:

A.) A sure amount of GH¢ 80 if you use fertilizer A 
B.) A pay-off of either GH¢ 40 or GH¢ 150  if you use fertilizer B
SECTION 2: LOSSES
Imagine there has been an insect attack on your plot which you want to deal with. The extension officer in your area has recommended that you use one of two types of insecticide: A and B. If you use insecticide A for your crops, you will make a “sure” loss on your crops at the end of the season. You have seen people use insecticide A and the results are always the same. Therefore, you are guaranteed a “sure” loss at the end of the season if you use insecticide A. 

 If you use insecticide B, your loss will either be a low amount or a high amount. The extension officer has told you that half of those who use insecticide B will incur a low loss because the chemical will be effective, while half will incur a high loss because it will not be effective. You do not know which of the two losses you will incur if you decide to use insecticide B.
Note: Insecticide A and B cost the same and they have no long or short-term effects on soil fertility.  

Enumerator: In the table below, each row is a separate question involving the scenario above. In each question, the payoffs for using fertilizer A and fertilizer B are shown. 

Ask the respondent if they understood the scenario you narrated. If the answer is yes, use the activity below to ensure they really understand. Otherwise explain it all over again and then perform the activity below with the respondent.

Example

2. Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 6 if you use insecticide A (>> Q1)

B.) A loss of either GH¢ 4 or GH¢ 8 if you use insecticide B (>> Q3)
1. Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 7 if you use insecticide A (>> END)
B.) A loss of either GH¢ 4 or GH¢ 8 if you use insecticide B (>> END)
3. Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 5 if you use insecticide A (>> END)

B.) A loss of either GH¢ 4 or GH¢ 8 if you use insecticide B (>> END)

Part (c)

Carefully follow the skip pattern
6.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 110 if you use insecticide A (>> Q7)

B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B (>> Q5)

If respondent selects B in response to Q6:
5.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 105 if you use insecticide A (>> END)

B.) A loss of either GH¢ 20 or GH¢ 200  if you use insecticide B
4.
Which of these alternatives would you choose in the situation above:

A.) Sure loss of GH¢ 100 if you use insecticide A (>> END)

B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B 
3.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 95 if you use insecticide A (>> END)

B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B 
2. 
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 90 if you use insecticide A (>> END)

B.) A loss of either GH¢ 20 or GH¢ 200  if you use insecticide B
1.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 85 if you use insecticide A (>> END)
B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B (>> END)
If respondent selects A in response to Q6:
7.     Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 115 if you use insecticide A 
B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B (>> END)

8.     Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 120 if you use insecticide A 
B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B (>> END)

9. 
  Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 125 if you use insecticide A 
B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B (>> END)

10.   Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 130 if you use insecticide A 
B.) A loss of either GH¢ 20 or GH¢ 200  if you use insecticide B (>> END)

11.   Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 135 if you use insecticide A 
B.) A loss of either GH¢ 20 or GH¢ 200 if you use insecticide B 
Part (d)

Carefully follow the skip pattern

5.
Which of these alternatives would you choose in the situation above:
A.) A sure loss of GH¢ 80 if you use insecticide A (>> Q4)

B.) A loss of either GH¢ 40 or GH¢ 130 if you use insecticide B (>> Q6)

If respondent selects A in response to Q5:
4.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A 
B.) A loss of either GH¢ 40 or GH¢ 125  if you use insecticide B (>> END)

3.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A 
B.) A loss of either GH¢ 40 or GH¢ 120 if you use insecticide B (>> END)

2.
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A 
B.) A loss of either GH¢ 40 or GH¢ 115 if you use insecticide B (>> END)

1. 
Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A 
B.) A loss of either GH¢ 40 or GH¢ 110  if you use insecticide B (>> END)

If respondent selects B in response to Q5:
6.     Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A (>> END)

B.) A loss of either GH¢ 40 or GH¢ 135 if you use insecticide B
7.     Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A (>> END)

B.) A loss of either GH¢ 40 or GH¢ 140 if you use insecticide B 
8. 
  Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A (>> END)

B.) A loss of either GH¢ 40 or GH¢ 145 if you use insecticide B 
9.   Which of these alternatives would you choose in the situation above:

A.) A sure loss of GH¢ 80 if you use insecticide A 
B.) A loss of either GH¢ 40 or GH¢ 150  if you use insecticide B 
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